BEHR (2023,7,1~2023, 9, 30)

AT BARY v H—BR - BAREREZRABSBIED ~—F XY R (Dv THE)

A BEZBWHTFAU-185 v H—FE19@1—1J —THAR2023 28T/L—TA
B BAZMTFAU-185 v H—FE198 11— —TIHEAR2023 3BIIL—Tc
XBFDHITT AT 1N - BEREF

O =~ N O N O ONNOO OO M

N MDDNO - W OO0 0o -~ O w o o

FEH=HEB

INWRES

=< 5EE
WBARBRU-15tY 2L ELEY
WBARERU-15Y 2L ELEY
mFEE
FE=FE
=< 5ET
=< 5ET
=< 5ET
=17
=< 55E
BARABRU-16-LEY
WBARYT1FCU-18

W W W

WMARY T« I RXFT1/N)b

2023%
7H 18 BO 11
7H 8HAO
o
7H 98 A
O
7H 158 AO
BO
A
o
O
7H 178 BO
TR 228 A
7TH 268 @
7TH 288 A @
7H 288 ~
288 O
A
20 @
o
L
7H 30 O
A
A
O
O
O
O

2 — 1
1 — 1
1 — 4
0—4
0O—6
3-0
1 — 1
2 -2
6 —0
9 -0
6 —0
1 —0

=< 55EE
AR (8%
FE=BH
HEZE Gi%)
RIBER (BB
ICNE35))
ICNE35))
ICNE30))
TORXFESSC
TORXFESSC
TORXFESSC
TORXFESSC



88 288 O 6 —0 JXRAR=YFC
O 3—2 JRAR=YFC
O 2 -0 JRAR=YFC
O 1 — 0 FCRNILEFEZIY
O 2 — 0 FCRNILEFEZIY
83 3B O 4 -0 RZRP
O 1 —0 ?PmiREHD
88 4BHAO 6 — 0 =
B® O — 1 F&HEX
82 b5H ~
BERORXAT Y N—AR
58 O 1 — 0 als GiS
®@ O —2 sl EHE
® O — 4 &g— (D
6H @ O —7 #srs FH
® O —7 #Erg @H
®@ O —2 = UgH
7B @ O —5 BiHRFR G
® O -3 #Ereg @
® O —9 A% (BFH)
82 8H ~
TGU RS 1 IV mE
88 @ 1 —3 &8 (E®
O 1 —0 42 G
® 2 — 4 )\FR (FB
°o8 O 2 —1 (FRIFEHE GH
108 @ O — 4 mE GRiED
® O -6 FRBIXE GiH
8H 108 ~

WARTOZNIVAvT (BES)

108 O 3 —0 MHEEE

O 7 —0 MHMARIXE

118 O 3 —1 EBElIX

88 10B O 2 — 0O #EEIE
A O — 0 MHBARIE

88 11 O 2 — 0 EBBIX



A-BREERTFAU—18YyA—519@1-RU—JiFER2023 28IIL—TA
B/IGEET 181018 (BHR40. BR6E3. KR13)
BASATFAU—18YyAH—%19@1-RU—JHEAR2023 3HBI)IL—Tc

BI12EME T  SB123W  (BHm25. BR34. Km11)

B--

8H

8H
8H

8H

8H
9H

9H
9H
9H

9H
9H

9H

118 ~
ZEYY Nz RT/\)bindJr Ly
118 O 2 — 0 #£i (88)
A 3 — 3 Zy ($EBs)
126 A O — O PEEHE GBI
O 5 —1 PEEHREs @Wx)ID
® O — 6 WHEwilt (W
13H ® 2 — 6 ENFRER (=)
® O — 4 EFR=EE (W)
13H ~
BOMBEESM N Y TBARE
13H @ 3 — 4 =2 (%)
O 7—-—1 =M
14H O 12 — 2 SEIEEREK EBS)
O 6 —0 IMNUms
15H O 2 —0 Wes W)
19 B O 6 — 0 Fi=%B
19H ~ 24H
AF—IEEEB CHgESmmiRIE)
23H A1 —1 BE CGeE
A O —0 EBE G
20H A O —0 #HBK
® O -6 #WMHK
O 1 —0 K
27B A0 3 — 2 XRPRD
2BAO0O 7 — 0 wmFHE
A O — 0 HFCP=XR~H
O 4 — 0 HFCP=R#H
OB AO 7 —0 I\
O 5 — 0 IN\ibry
O 5 — 0 IhUdbky
10BBO 1 — 0 B3
16BEBO 2 — 1 =FE==%
O 2 —0 FE=m=E
1 7B A0 5 — 2 BERREMNB
O 3 — 1 X8EHSBIHREER
23B A0 1 — 0 YXE=AKMEB
BO 2 — 0 E&Ef@giuE
O 4 —3 &W®R=E
30B A0 2 —0 &KKbEE

.

FEH1 I

R 3



